HUAGUAN RELAYS

4117

Mz
[} “ ]
T [GEilEN
132X153X18  17.5X15X20
Frm

- ENE, KINE,

» KEIER

= YIH5ER RIK20A.

= EEEREERLEIRSD.

" ATRARSRE. BFRE. BRURGMREILE.

ITHES

2 = AlA; Bi1B; C:1C; UiU; Vi1V Wi1W
SHERN: S mERN; Z WEFR

4117 €C S 10 DCi12V 1.0
1 2 3 4 5 6
182, 4117 4 fEEF: 10:10A; 20:20A

5 4B EHBE(V): DC:3,5,6,9,12,18,24
6 LkEINFE: 1.0:1.0W; 1.1:1.1W; 1.2:1.2W

O: M FX
il = B
PR 1A(SPSTNO) 1B(SPSTNC) 1C(SPDT(B-M))
™I 1U(SPSTNODM) 1V(SPSTNCDB) 1W(SPDTNC-NO)

fill 2= A4 ) AgSnO, AgNi

i 5 £ 8 1A,1B,1C: 10A/120VAC,28VDC; 20A/14VDC
1U,1V,1W: 2 X 10A/120VAC,28VDC; 2X 20A/14VDC
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3 3.9 9 2.25 0.3
5 6.5 25 3.75 0.5
6 7.8 36 4.50 0.6
9 1.7 85 6.75 0.9 1.0 <10 <5
12 15.6 145 9.00 1.2
18 23.4 324 13.5 1.8
24 31.2 576 18.0 24
12 15.6 130.9 9.00 1.2 11 <10 <5
24 31.2 523.6 18.0 2.4
12 15.6 120 9.00 1.2 1.2 <10 <5
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